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Ideals for irreducible component#ﬂ)f Xpar

= W™ +u™ 4+ u? - 1)

* 1 irreducible components of dim¢ = 0, with total 75 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

ag =

ayq =

ag =

asz =

—u'? — 10 —3u8 — 248 — 2t —u? 41
u + 2u'? + 5ut0 + 6ud + 6ul + 4ut 4+ u?

ul® + 207 + 6ul® + 8uld + 11ut! + 10u® + 6u” + 2u® — u® — 2u

2l 30 L3 4

u? 4+ 3u* 4 —3u? +1
_u28_4u26+._'_~_7u4+2u2

u31+4u29—|—---—4u3—2u>

ar = \ w3 +5u2 4+ —2u® +u
—ud? — 8uPT + -+ 1205 + Tud
az = ubt + 90 + o —wd
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ +4u™ + -+ +8u + 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ uP+33u™ 2w+

C2,Cp PG T R |

C3,C4,C8 u75+u74+_110u_25

Cs C11 LI C T |
7 U75—3u74+..._8u+3
@ W™ = 5u™ 4 - 4 21044u — 3477

€10, C12 w23 -1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yy 419y o — 10y — 1

C2,Ce Yy =33y 42y —1

€3, ¢4, Cg Y™ — 81y™ + - -+ + 28950y — 625

Cs5C11 Yy +23y" 2y —1
¢ y™® —5y™ + . 4562y — 9
C9 y™ —29y™ + ... + 182318326y — 12089529

€10, C12 Yy 59y 22y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
= 0.682193 + 0.7326641 —0.302285 4 0.9798207 0
= 0.682193 — 0.7326641 —0.302285 — 0.9798207 0

—0.101406 + 0.9922481

—4.21065 — 6.074241

—4.70014 + 8.187011

—0.101406 — 0.9922481

—4.21065 + 6.074241

—4.70014 — 8.187011

= —0.044728 + 0.9803611 —5.29212 4 0.735051 | —7.97312 4+ 0.1

= —0.044728 — 0.9803611 —5.29212 — 0.735051 | —7.97312+4+ 0.1

= 0.231455+ 1.0001701 —0.58521 + 2.913461 0
= 0.231455 — 1.0001701 —0.58521 — 2.913461 0
= 0.748094 + 0.7081041 1.49916 — 5.735521 0
= 0.748094 — 0.7081041 1.49916 + 5.735521 0
= 0.277622 + 1.0063001 3.26637 — 3.718801 0
= 0.277622 — 1.0063001 3.26637 + 3.718801 0

0.099815 + 0.9505701

—2.03163 + 1.902801

—1.00812 — 4.539251

0.099815 — 0.9505701

—2.03163 — 1.902801

—1.00812 + 4.539251

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= —0.265572 + 1.0124601 4.96981 — 1.562821 0
= —0.265572 — 1.0124601 4.96981 + 1.562821 0
= —0.586679 + 0.8671491 —1.77126 + 1.035091 0
= —0.586679 — 0.8671491 —1.77126 — 1.035091 0
= —0.746947 + 0.7368671 3.53722 + 1.182441 0
= —0.746947 — 0.7368671 3.53722 — 1.18244]1 0
= —0.242468 + 1.0281101 4.79959 — 4.649621 0
= —0.242468 — 1.0281107 4.79959 + 4.649621 0
= 0.234800 + 1.0346401 2.95579 4 9.949791 0
= 0.234800 — 1.0346401 2.95579 —9.949791 0
= 0.647448 + 0.8759791 0.73242 4 2.516631 0
= 0.647448 — 0.8759791 0.73242 — 2.516631 0
= —0.758459 + 0.7949931 4.55012 — 0.146681 0
= —0.758459 — 0.7949931 4.55012 + 0.146681 0
= —0.628084 + 0.9211391 —2.04419 — 5.772411 0
= —0.628084 — 0.9211391 —2.04419 + 5.772411 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.835257 + 0.7426741 6.35107 4 2.046231 0
u = —0.835257 — 0.7426741 6.35107 — 2.046231 0
uw= 0.758172 4 0.8257761 3.58561 4 4.718021 0
w= 0.758172 — 0.8257761 3.58561 — 4.718021 0
u = —0.847393 + 0.7344841 10.08040 4 9.299571 0
u = —0.847393 — 0.7344841 10.08040 — 9.299571 0
u=0.846821 + 0.7392801 11.94220 — 3.911431 0
u= 0.846821 — 0.7392801 11.94220 4 3.911431 0
u= 0.845301 + 0.7517621 12.17070 — 0.587171 0
u= 0.845301 — 0.7517621 12.17070 + 0.587171 0
u = —0.844440 + 0.7572641 10.49740 — 4.805571 0
u = —0.844440 — 0.7572641 10.49740 + 4.805571 0
w= 0.738716 + 0.9130601 3.31838 4- 0.953361 0
uw= 0.738716 — 0.9130601 3.31838 — 0.953361 0
u=0.682106 + 0.9592667 —0.98202 4 4.315841 0
u= 0.682106 — 0.9592661 —0.98202 — 4.315841 0
u = —0.731393 + 0.9362921 4.12042 — 5.503831 0
u = —0.731393 — 0.9362921 4.12042 + 5.503831 0
u= 0.158699 + 0.7957941 —0.93723 + 1.748111 1.58765 — 5.179681
u= 0.158699 — 0.7957941 —0.93723 — 1.748111 1.58765 + 5.179681
u = —0.709189 + 0.9670621 2.84545 — 6.729641 0
u = —0.709189 — 0.9670621 2.84545 4 6.729641 0
uw=0.702838 + 0.9804361 0.68737 4 11.263501 0
u= 0.702838 — 0.9804361 0.68737 — 11.263501 0
u = —0.753756 + 0.9960961 5.57098 — 7.988181 0
u = —0.753756 — 0.9960961 5.57098 4 7.988181 0
u = —0.765394 + 0.9919271 9.77291 — 1.201591 0
u = —0.765394 — 0.9919271 9.77291 4 1.201597 0
u= 0.763313 + 0.9954231 11.41870 + 6.589811 0
uw=0.763313 — 0.9954231 11.41870 — 6.589811 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 0.758437 + 1.0027701 11.1297 +9.90171 0
u= 0.758437 — 1.0027701 11.1297 —9.90171 0
u = —0.756608 + 1.0054701 9.2451 — 15.28501 0
u = —0.756608 — 1.0054701 9.2451 + 15.28501 0

u=0.686093 + 0.0289811

6.40339 + 6.930891

7.58937 — 5.037141

uw = 0.686093 — 0.0289811

6.40339 — 6.930891

7.58937 + 5.037141

u = —0.685171 + 0.0158731

8.17683 — 1.595941

10.20433 + 0.321001

u = —0.685171 — 0.0158731

8.17683 + 1.595941

10.20433 — 0.321001

u= 0.652464

2.61478

4.37850

u = —0.334129 + 0.4116881

—1.50019 + 1.557131

0.650340 — 0.2726821

u = —0.334129 — 0.4116881

—1.50019 — 1.557131

0.650340 + 0.2726821

u = —0.480157 4+ 0.2074911

—0.60976 — 4.422141

4.50486 + 7.492167

u = —0.480157 — 0.2074911

—0.60976 + 4.422141

4.50486 — 7.492161

u=0.429074 + 0.0955701

1.039040 + 0.3150961

9.75730 — 1.793611

uw=0.429074 — 0.0955701

1.039040 — 0.315096.1

9.75730 4+ 1.793611




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 u®+33u™ o+ 2ut 1

C2,Ce u -4 4w -1

C3,C4,C8 u ™4 —110u — 25

C5,C11 u75+u74+~--+u2—1
€7 u® —3u™ + - —8u+3
€9 u™® — 5u™ + -+ 21044u — 3477

€10, €12 u +23u™ 4 2u— 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Yy 19y - — 10y — 1
€2, Co Yy =33y 42y —1
€3, Ca, Cs Y™ —81y™ + - 4 28950y — 625
€5, C11 Yy + 23y 2y — 1
cr Y™ —5y™ 4+ 4+ 562y — 9
C9 Y™ —29y™ + ... 4 182318326y — 12089529
€10, C12 Y 59y 22y — 1




